Name:  _____________________________ (please print)

Signature: __________________________

ECE 2300 -- Quiz #1

Shattuck Section – TuTh 4:00PM

February 7, 2006

Keep this quiz closed and face up until you are told to begin.

1.  This quiz is closed book, closed notes.  You may use one 8.5” x 11” crib sheet, or its equivalent.

2.  Show all work on these pages.  Show all work necessary to complete the problem.  A solution without the appropriate work shown will receive no credit.  A solution which is not given in a reasonable order will lose credit.

3.  It is assumed that your work will begin on the same page as the problem statement.  If you choose to begin your work on another page, you must indicate this on the page with the problem statement, with a clear indication of where the work can be found.  If your work continues on to another page, indicate clearly where your work can be found.  Failure to indicate this clearly will result in a loss of credit.  

4.  Show all units in solutions, intermediate results, and figures.  Units in the quiz will be included between square brackets.

5.  Do not use red ink.  Do not use red pencil.

6.  You will have 30 minutes to work on this quiz.

________________/20

Room for extra work

Use the circuit given to find the indicated quantities.

a) Find vA.  

b) Find the power delivered by the 8[V] voltage source.
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Room for extra work

ECE 2300 -- Quiz #1 – February 7, 2006 –4PM TuTh Shattuck Section Solution

Use the circuit given to find the indicated quantities.

a) Find vA.  

b) Find the power delivered by the 8[V] voltage source.

[image: image2.png]— LB
800[ma] | !
/
/
We Cawn Lesi,\ thys }orob/em M.rfnj Ohms Law,
. _ "‘S-U;(
Z.Q =
12 £ 3

From this we iafer That we need Ux. Writing
K VL arouad CL.# 1, we get

—8[v) -~ (oolmA3)37[83 -Ux = O,  or

Ux:‘}7-l[V].
So, Lo = CS)(-19.150))
Q = _
= =79
2inz f S8(A).




[image: image3.png]Room for extra work a) Continued

Clever choices of closer Surfaces e fhow

that
anok

around closed

| vL
TLW\J) whea we take K
jei‘

loop o (C.L.#c1>) We

Uy +U, +7(33(q —Foolma)17s} - L 330 +SUX= O,
or

Uy = —6Ux — 700 (g +13.60V].

Thas,

b) \A}V‘.‘ﬁfnj KL ‘(Qr C S # /J we Set

(o + BB _300(-8=0 ) o
30{xn3

L‘D = 33 3(»’*""\3

JFDEL.BY.S’M = ‘(3[@)((‘.9) :FEG7[’”WJ





_1200749782.vsd

